4.   Individual Assignment: Problem Sets – Comprehensive
 Due Date: 7/6


· Ch. 3, p. 95 –  exercise 88[image: ]
· Ch. 5, p. 173 –  exercise 56
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· Ch. 6, p. 217 – exercise 64
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o  Ch. 8, p. 288 –  exercise 38[image: ]
o  Ch. 9, p. 321 –  exercise 54[image: ]
o  Ch. 10, p. 362 –  exercise 42[image: ]
· Ch. 11, p. 402 –  exercise 58[image: ]






















 

image6.jpeg
recent seasons, Major Leagus Basenay nas Deen CRCiZEy o e Tengu o e
ated that the average game lasts 3 hours and 30 minutes. A sam-
led the following times to completion. (Note that the minutes have
o that a game that fasted 2 hours and 24 minutes

#42. During
games. A report indic:
ple of 17 games reveal:
been changed to fractions of hours, s
is reported at 2.40 hours.)

{208 240 270 225 323 317 28 318 280
238 375 320 327 252 258 445 245

H
i

Gan we conclude that the mean time for a game is less than 3.50 hours? Use the .05
i significance level.
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58. The amount of income spent on housing Is an important component of in@ Cost ©F HV=
ing, The fotal costs of hausing for homeowners might include morlgage payments. prop
erty taxes, and utiity cosis (water, heat, slectricity). An economist selected a sample of
0 homeowners in New England and then caiculated these total housing costs as a per.
R of monthly income, five years ago and now. The information s reported below. ls it
reasonable to concluds the percent is less now than five years ago?
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1. Find the mean, median, and the standard deviation.
2. Write a brief summary of the distribution of the area of homes.

Refer to the Baseball 2005 data, which reports information on the 30 major league teams.

for the 2005 baseball season.

a. Select the variable team salary and find the mean, median, and the standard deviation.

b. Select the variable that refers to the age the stadium was built. (Hint: Subtract the
year in which the stadium was built from the current year to find the stadium age and
work with that variable,) Find the mean, median, and the standard deviation.

©. Select the variable that refers to the seating capacity of the stadium. Find the mean,
median, and the standard deviation.

RQ Refer in the CIA data which darn: A N T Meis 1y AR v miriee
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d. Da the joint probabiiities total 1.007 Why?
56. Assume the likelihood that any fight on Northwest Airlines arrives within 15 minutes of
the scheduled time is .90, We select four flights from yesterday for study.
a. What is the likelihood all four of the selected fiights amived within 15 minttes of the
scheduled time?
b. What is the likelihood that none of the selected fights arrived within 15 minutes of
the scheduled tme?
c. What is the fikelihood at least one of the selected flights did not arrive within 15 min-
utes of the scheduled time?
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»64. An intemal study by the Technology Services department at Lahey Electronics revealed
company employees receive an average of two emails per hour. Assume the arrival of
these emalls is approximated by the Poisson distribution.
a. What is the probability Linda Lahey, company president, received exactly 1 email
between 4 Py, and 5 P, yesterday?
b. What is the probability she received 5 or more emalt during the same period?
s c. What is the probability she did not receive any email during the period?
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The mean amount purchased by a typical customer at Churchill's Grocery Store is $23.50
with a standard deviation of $5.00. Assume the distribution of amounts purchased follows.
the normal distribution. For a sample of 50 customers, answer the following questions.
a. What is the likellhood the sample mean Is at least $25.007
b. What is the likeihaod the sample mean is greater than $22.50 but less than $25.007
' Within what limits will 80 percent of the sample means ocour?
5 = —ann Q&T crnre for Division | studsnt-athlstes is 947 with a standard deviation of
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$100. How many families shoulc be INierviewess
. Baies USA,  monihly magazine that discusses issues related to haaith and health
P surveyed 20 of ts subscribers. It found that the annual health insurance premiums
oy with coverage through an employer averaged $10,870. The standard deviation
of the sample was $1.000.
O Bascd o this sample information, develop a 80 percent confidence interval for the
population mean yearly premium.
b. How large a sample is needed to find the population mean within $250 at 83 percent
confidence?
e narmfort_is infancerd by the amount of pressurization in an aifine cabin.




